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Note

PAPER-1

URTERS |

: This paper contains FIFTY (50) multiple-choice/Assertion/Reasoning -

Matching questions. Each question carrying TWO (2) marks. Attempt All

the questions.

Atz 2l WeuoHl v (wo) aglasela usdl, WG 2 ASsL ottt Waddl
B, R Malrit sl aualdl 8. uAs Nl A () 8.
1. Which set of the following 1. (1Al a4&inl sui s ardnql

differentiate the offline with that of

online testing method ?
The statements are :

(1) Offline is local centered, o-nline
is centralized
(2) Offline is non-digital, dnline is

digital

(38) Offline is subjective, online is

objective

(4) Internet is must for online, and

not a necessity for offline

(5) Online usuélly provides instant

evaluation, offine need not -

The sets are :

(A) 1,4 and 5
B) 1, 2 and 5

. (C) 1, 3 and 5

(D) 2, 3 and 4

Paper-I—A
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(A) 1, 4 21 5
B) 1,215
(C) 1,321 5
(D) 2, 32 4
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The strength of project method lies 2.

in :

(A) Social participation

(B) Collection of information

(C) Role of teacher as instructor
(D) Individualised engagement

Computer based testing is essential

to :

(A) Make testing transparent,

objective and efficient

(B) Ease teacher from burden of

evaluation

(C) Prepare digitised evaluation

sheets for speedy results
(D) Minimise human bias in testing
lOpen book examination is to :
(A) do away from malpractice of
copying

(B) test ability of candidates to

refer books and learn

(C) to test candidates ability on
application based knowledge

(D) to increase the quality of

- question paper
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5. By reflective teaching learner : 5  RBidiews Bewedl RQensl@iq

A) updates skills to b tent ‘
( )7 updates skills to be compe en (A) adl-lsae 530 &t‘-ldl‘-jg[ AT

(B) will be a good achiever in his
: ‘ (B) udlal ARl Qg ua s:dl

examination
(C) will internalise knowledge and (©) Midh"‘_’ aitadq i el
be judgemental o Aaull BHAL ML 5194l

(D) will get content mastery (D) [AMuagHl dosidl M s3uadl

6. The data derived through - _
6. uullBLs ugladl wadl wisdl :

experimental method :

(A) is not from a natural setting B geell olsagllel dl wa

" (B) lacks specific measurement B) RRre Wy-l v2end

(C) is unrealistic : Q) waRrdlds

(D) is artificial '
D) 4B

7.  Which one of the following is a

constraint for 'adopting historical 7. Alels duand A 2la sd

method of research ? [Asey maziy el 53 & 7

(A) Lack of technical advancement (A) dsl8l wola-l ena

B) Non-availability of pri ' |
(B) Non-availability of primary @B) wabs RN 2l

data

o (C) Aseurill vwedl
(C) Ambiguity of concepts’

(D) Subjective information M) axdasl wldl
Paper-I—A . ' 5 [_P.T.O.]



10.

After completion of work, on a
research problem, the report was
discussed in a scholar’s meet, and
researcher was suggested to change
title of problem and hypothesis,
based on the data analysis. This
is : :

(A) Logical and appropriate

(B) Processes systematisation of
report ' :

(C) Illogical and not desirable
(D) Improving the validity of report
Title of the thesis is :

(A) An assertion

(B) An observation

(C) A fact

(D) An elaboration

Given below are the steps of a
scientific research. Arrange them in
order :

{1) Formulation of hypothesis

" (2) "Development of research tool

(3) Identification of research
problem

(4) Selection of sample

(5) ‘Data analysis and interpre-
tation

(A) 1,2, 3,5, 4
(B) 1,4,3,2,5
(C) 3,4,1, 2,5
D 3,1, 2, 4,56

Paper-I—A
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10.

A5 waumal yel sul oie, sdad

WS, iesaliiel HIRZawi, 20 Rela

Qa3 HulRdl yassrad suwl Ag

fldfs A Geseudl oledaldi »d
........ F L o .

(A)
(B)
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(A) [Reunt
(B) »ladis
(C) i (ucy)
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SMML dlsdl v

(1) Geseusn dl

(2) Aglaqd Gusel-l Qs

(3) Aa xRl iau

(4) Ayl udeoll

5) “ledl yass SRR P
(A) 1, 2, 3, 54

(B)
(C)
(D)

1, 4,8, 25
3,4,1,2, 5
3,1,2 4,5



If the world is different today, we
need to think; talk and engage
accordingly. Falling back is unlikely
to help, he said adding “purposeful
pursuit of national interest is
shifting global dynamics”.
Highlighting India’s new approach
in dealing with terrorism he
compared “lack of response to the
" terror attack of Mumbai in
comparison to the way the country
responded to the Uri and Pulwama
strikes. On India walking away from
the Regional Comprehensive
Economic Partnership, the external
affair minister said no agreement
was better than having a bad

agreement.

Giving a historical perspectiver to
geopolitical issues, Jai-Shankar said
“For years India’s position on the

world state seemed assured but

the 1962 conflict with China

significantly damaged India’s

standing.
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11.

12

13.

RCEP stands for :

(A) Regional Common Economic

Party

(B) Regional Common Election

Party

(C) Regional Comprehensive

Election Partnership

(D) Regional Comprehensive

Economic Partnership

What was country’s idea about

Economic Partnership ?
(A) All Agreements are good

(B) Agreements are superior than

country

(C) Nothing wrong in saying no to
unfavourable agreement than

‘having an awful agreement
(D) Say yes to all agreement |
The above statement was given by :
(A) Subhramanyam Swaini
(B) Subhramanyam Jayshankar
(C) Ravi Shankar

(D) K. Subhramanyam

Paper—1-—A

11.

12.

13.

w.{l. 6.l (RCEP) -l 3a
AGEAAZY '

(A Ao sivq Ssi-ilfs wdl
(B) _z'lwa sidq Sasaqt Wl

© oqd siwldfda Sdsan
yénlly

™) Aod SM0IARY SIS
Yl

WHs eollerlui Hird du g Qs

& 7
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(B) $AAI syl us A &1 O
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14.

15.

16.

India’s New Approach en'Terforism ‘

is @ -

(A) Wait till any action takes place

(B) Deny for any Itype of Action

(C) Earliest it was reactive, at-

present it is proactive

D) | Reedy to loose for Peeee

Year’s back conﬂlct of India w1th

Chma was :

(A) Natlonal Issue

(B) Ihterna_tional Issue

(C) Political Issue

B (D). Geopolitical Issue

During the .preocess of communi-

cation .

. (A) Sender encodes for the media

and recelver decodes the

Inessage

- (B) Sender decodes for the media

and receiver encodes the
~ message _
(C) Medium encodes and decodes
the message from sender

(D) Medium encodes and deeodes

the message from receiver

' Paper'—I—A

14.

15.

ldsaAle A Ll qd-

2[Ry

(A Al Ba wgl-l u[a[%zu'_ |
B) siSua Buld uBu-dl $-u12
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16.
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17. Proxemics is the type of non-verbal  17.
" communication which deals with :

18.
~ cation exist due to :

. 19.

Paper-I—-A

D)

3 (A) App_earance :

(B) Touch
(C) _B’od'j"r'._ organs

- (D). Space

Language barriers in communi-

(A) the difference in the sender’s
recognition vocabulary and the
receiver’s user vocabulary

(B) the difference in sender’s user
vocabulary and the receiver’s
recognition ‘vocabulary _ |
(C) the sender’s user vocabulary
and the receiver’s recognition

vocabulary being alike

the
“vocabulary and the receiver’s

sender’s recognition

user vocabulary being the same
In intra-personal communication :

(A) sender sends and receives the
message

sender sends and another

B)
receiver receives the message

sender sends and two receivers

© _
receive the message

(D) sender sends and the group

receives the message

- 19.

10

(©

g vall saug (isAlisw)

1Bes UAA 53 & 7
(A) evld

(B) 2w

(©) wdla- w2l

(D) a8 )
NRUAAHL MIMLAL a8 5L 1@l
87

(A) isarianil lavaseeision A
Aua--l Yl weeeisiag
dsleld,
Hisariietl Y woesisia wA
ANl BAMAGEH{SIAY
dstad ‘

(B)

sl gl oeeisia wA
Aadadiy  vinvaceeisia -
5% ' '
R HAHAEHSIL 24
UiseriR L YRl aseeisia Ssy
e |

(C)
D)

2l Aldold: Rl :
(A)
(B)

Hiserl2 AU 24N 2 AN Y

Wisddly AUl AT A
Ana-AlR Azul Aaq

HisaA dewl 20l w4 4
Ana-L2 ALl Aaq '

Wisa-iz AReil w2 s YU
el Ang
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20. The mass media impacts our society

21.

in different ways except :
(A) for influencing public opinion

(B) for modification of behaviour

(C) for changing values and belief

. system
(D) for judicial decisions
Find out the missing number :

4,9,20,43, ...

(A) 84

- (B) 96

22,

(©) 108
(D) 133

From Vadodara station, if we buy

two tickets to station P and "t‘hree

tickets to station Q, the total cost
- is Rs. 77, but if we buy 3 tickets to

| ~ station P and 5 tickets to station Q,

~ the total cost is Rs. 124. The fare:

from Vadodara to P is :

(A} Rs.-13

(B) Rs. 14
(C) Rs. 18

. (D) Rs. 20

 Paper-I—A
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20.

21.

22.

9. dl
Rl :

HC) 3L

A A WAL AHBHL S,
A 2e- 215 [Qsey Ry -

(A) disiqt sRonyHl weuq

-

(B) d@lsil adul YR A )
(©) 4&y i Wit dgad
D) ~uuaud qwig Fuly
vedl visdl yid s

4,9, 20, 43, ........
A) 84
(B) 96

(©) 108

D) 133 | |
asiell Runefl 2o P -l & BB
A R Q Al AR RB2 wiledl g
wi 3. 77 AU B, Uig W UL P
- =@ (232 w4 Run Q -l 5 (232
vleai »ud di g4 v 3. 124 wu
asigudl Ru P o eug
(A) 3t 13
B) 3. 14
18
® 3 20
- [PTO] |



23.:

24.

300. gm of sugar solution has 40% -

sugar in it. How much sugar should
be added to make it 50% in the

solution ?
(A) 30 gm -
(B) 40 gm

(C) 50 gm

(D) 60 gm

Numbers in boxes given below
follow the same arrangement. Find

the missing numbers in the third

box

‘29 13| |55
RCA REL I RN B L |30]25
27933 [35]|16|4a3| [ 2] 2]~

(A) 65, 36, 63

(B) 53, 24, 63

(C) 49, 32, 53

(D) 51, 25, 61

Paper-1—A -

12

23. WiStll 40% LML 300 UM WiS 8.
| | ;mt& 50% otrtiael 412 Aot deell wis

Gladl wed 7
W % i
,(B) 40 A
.(C) 50 WM
) -Golmm

24, A »ual viAlHL sl otsaell

Asaid B. o{lon vitlldl viedl visl

El

271 9 [33| 135|161} 43 2{2] 2]

(A) 65, 36, 63
(B) 53, 24, 63
(C) 49, 32, 53

(D) 51, 25, 61



25.

. 96.

27.

By selling_ a mobile for Rs. 1,636, |

Amit lost 20%. What percent shall

Rs. 2,000 ?

'_(A) A loss of 8.25%

(B) A profit of 8.25%
(C) A loss of 4.17%

(D) A profit of 4.17%

The Sanskrit word :‘Upamana’

means :

(A) Implicatiqn K

(B) Compa‘u'ison.

() Infere;ncé '

(D) 'Perception

Odometer‘ is to milage as compass
is to @ |

(A) Speed

(B) Hiking -

(C) Needle

(D) Direction

Paper-I—A

he gain or loose by 'seliing it for

13

25.

26.

-27.

Hondan 3L, 1536 i AAdt A

20% +{l vilz aS. Housu 31. 2000

Al qAdL A 32dl 251 ASL 3 Wi

99 ?

(A) 8.25% Wiz ¥

(B) 8.25% +§l 4

(©) 4.17% vi2 %2
(D) 4.17% WSl 2Q

drgd A ‘GUAI’ led ¢

(A) Guuin |

(B) ga-il

©) wgAir

(D) ucudlls@

vigilley WA 2 B dl fwa
@A) ala

(B) dioll dr ?uacj,
© @

D) ut
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28. Which of the following diagrams ' 28. ~{d 2ud¢ sz WY Y Y s

correctly represents = Lions, 9 7

' ' ; ? s P N
- Elephants and lAmmals ? Rist, stefla 27 wwella)

-(DC

29. Nyaya Syllogism hés cerereererereenenes 99

7 . Aseddsd (waeuR) L.
Fratement. Rt B, | |
(A) One . | @ i
(&) '1-‘hree © =gl
® Two A

Paper-I—A o ‘ 14



30.

31

Should high chimneys be installed

- in industries ?

Arguments :

(I) Yes, it reduces pollution at

ground level.

(II) No, it increases pollution in

upper atmosphere..

(A) Only argument 1 is strong

(B)_: Only argument II is strong

(C) Either I or II is strong
(D) Both 1 and II are strong

The sum of squares of three
numbers is 138, while sum of their

products taken two at a time is 131.

. Their sum is :

() 16

(B) 20

(C) 24

D) 26

~ Paper1—A
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v

30.

31.

D) 26

Gelonmi Al GAL At 20
87
edldl :
M st A DAL g q2ad 8.

(ID 1L A GUIAL seHirHl NEHAHL
auIl 53 8. |

gella T A% g5 Aol Guyey)
@ ..

(A)

(B) eelad T 3 g5 Wollrt (wyeye)
)

(©) sidl T >c 14004 (iogeia) 8

(D) ot T A I Hojd 8"

AQL ViSirL qoll-L AU 138 AL B,
distl A AL Jeusi-d el

131 A 8. dl 2L isidl A J2dl

y9 ?

(A) 16
(B) 20

(C) 24

[PT.0)



82 Given the following wage 32 -0 Ad-g »ugf Rda 2l B :

distributions : o S
dd- (3L. 4i) s HtHAL v

Wages (in Rs.) 'No. of Workers

- 50 ol Biest 4

Less than 50 4 S

| 60 o »iieo1 10
Less than 60 10 -

o (U TR 20
Less than 70 20 ' o |
o 80 ol »ligoi 40
- Less than 80 40
| goelalisot - 50

Less tﬁan 90 50

. Jeal ulad sMuRl 3. 70 ol ag
What percentage of workers earn ' '

Aad @ ?

~ wage more than Rs. 70 ?
@ 50 () 50
B 60 o | ®) 60
©e | _' (©) 65
®) 75 o | | ©) 75

Paper-I—A ' S 16



33. Study of the following graph 33. -llA 2uld AL s yds 20u1

carefully and answer the question :

53 ogaiey 2L ¢

Production of Rose in Various States

925000+ | 25000
22500
22400
20000+ 20000 .
15000, 15000 o
12500 19450 12400
10000+
5000+
n + o 4+ ] fo D'i ) r
© = Y o = = & <
= = = Ie < 3 o o
= & = @ 7 z. 5
w o] =] E FE; = ot
T = < o £ D
bl = = S <
=] & O

Which of the following state(s)
" contribute(s) less than 10 per cent

in the total Rose production ?
(A) Rajasthan and Karnataka

(B) Only Rajasthan

(C) Rajasthan,_' Karnataka,
Harayana |
D) Rajasthan', - Karnataka,

Haryana and Gujarat

Paper-I—A _ 17

s4L MR $4 Gellendi 10% ¥l lisg

Jelotrl sdid, Gouten 52 69 7
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(B) & A
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D) xR, snlzs, sRun 2
2% et
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34. Study the pie-chartr carefully to
answer the question :
Percentage of Students
Studying different specialization

(Total No. of Students = 4500)

Marketing

The number of women studying
Finance is what percentage of
the number of men studying the

same ?
(A) 70
(B) 80
(C) 85
(D) 90

Paper-I—A
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34. adusiz stayds viewy 530 waus

TR

Ratio of Men to

Women in each

Specialization
Specialization Men Women

HR 2 3
Marketing 7 + 5

IB 5 1
Banking 17 10

IT 1 2
Finance 5 4

Y3l AvumslHl ULy ey

teal ufaad wllal s &8 ?

(A) 70

(B) 80

(C) 85

(D) 90




35. The distribution of weights (in kg)  35. %=L Wad s 4ol 50 Renllg

of 50 students in a class is as .Q’ll‘iﬁ'l RAde 03 20y O -

foll : N
| torows A%+l . sl Ava
Weight No. of Students
' 35—38 - 3
35—38 3
38—41 13
38—41 13
- 41—44 19
41—44 19
4447 10
44—47 10
. 47—50 5
47—50 5

‘ | Qold, AU aw+i ey & ?
What is the average weight of the ,

class ? (A) 40.26
(A) 40.26 (B) 41.88
(B) 41.88 () 42.56
(C) 42.56 (D) 43.25
(D) 43.25 | 36. ‘Ov2A2 ASAWR’ W Ul UsR

36. ‘Internet Explorer’ is a type of : 8 7

(A) Operating System (A4) e R

(B) Browser B) suGu3

(C) IP Address ©) S, AZA

(D) Compiler D) s*wdaR

Paper-I—A ' 19
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37

38.

39.

(B)

‘Which of the following is an open 37.

source software ?

(A) Mozilla Firefox
(B) Acrobat Reader
(C) MS PowerPoint
(D) Windows
NMEICT stands for :
(A) Mission

National on

Environment through ICT
National Mission on English

through ICT

Naticnal Mission on Economics

(C)
- through ICT

National Mission on Education

through ICT

(12

Dr.
in one college and wishes to do

refresher course in his subject.

Which of the f'ollowing will be useful
to him ?

(A) ARPIT
(B) MOODLE
(C) NPTEL

(D) ePG Pathshala

Paper-I—A 7 20

38.

Ramesh is Assistant Professor 39

AL Usld 54 2iuq AqR Als2aR
37 _ :
(A) Mozilla Firefox

(B) Acrobat Reader

(C) MS PowerPoint

(D) Windows

NMEICT +, Y3 -ud :

(A) Aurd R i e y

ICT

(B) Audd R i+ SPay g ICT

(C) Aard Pad i SsidiBsy y

ICT

(D) Aurd Bad i Awysa g

ICT

Sl AN WS SAWHL ALIUS HHEAIYS

£ BiA, Wittt [Aavai A3a s s

S5 9. QA AN 54 AX Gudiel

ugl ?

(A) ARPIT
(B) MOODLE
(C) NPTEL

(D) ePG Pathsha.la



40.

41.

Paper-I—A 21

Which of the following is not a

social network ?
(A) Linkedin
(B) Instagram
(C) Twitter

(D) ebay

Which steps are to be taken for

abatement of air pollution ?

(7) Use a CNG Car.

(if) Stop the use of fire crackers

during festivals.

(iii) Plant more number of trees.

. (iv) Not to burn agricultural waste.

Choose the correct options :

(A) (i) only

(B) (), Gi) and (Zv) only

(C) @), @), ) and (iv)

(D) ), (@) and (iv) only

40. il sy Aua Aeas ol ?

(A) dlssln

(B) S-2l3UH
©) edlex
D) da

Ay, UENRAA LAl HI2 $4L udldlL Adl

QSN ?

(@) CNG sl Cl.’{-QlQl 53l

) décm £RIL FeLsSL ~L sisal
@) Ml Wbl qauivg s3q
(iv) % Guﬂataﬁ anuadl -
Yoy [Qseu e 52 ¢

(A) M2 (i)

(B) WA (), (iiij A (v)

(© ), Gi), (i) ¥R Gv)

(D) AL (@), (@) A ()

[P.T.0.]



42,

43

Ozone depletion in the stratosphere

causes :
(A) increase in greenhouse effect

(B) cooling of the earth atmosphere
system

{C) increase of infrared radiation in

the troposphere

(D) increase of ultraviolet radiation

in the troposphere

According to report of NITI Aayog,
which city from South India will
have zero ground water by 2020 ?

(A) Kozhikode

(B) Thimvaf;anthapuram
(C) Chennai

(D) Mysuru

The Air Quality Index (AQI) of one

_of the city is 190. It falls under

which category ?

(A) Very poor

(B) Poor

' (C) Moderate -

(D)} Good

Paper—I—A
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42,

43.

44.

AUAUW 2UARAML Bl et -l

5138 -:
(A) Al s1Bu ueila 48 &
B) yallq alcidre &g A 8

glolldeMl Wsa (Al
8 &

(©)

alsnaadl wredl QR
qé. &

D)

. 2uuioel vdaid R, sul
el@el eudly adHi epielxn Hisw

2020 Ylii g qadl Rulasi o ?
(A) siAlsis
R3a-iayy

SOEETES)

(B)
(<)
D)

s wdl AR sAil@dl S-3a (AQD
190 . 4 ¢ 2ol aeuy ?

WUY3

A) dla v
(B) wH
(C) AW

(D) A3



45. Which ambrjg the following is an 45,

46.

47.

/

environmental friendly polymer ?
(A) Poly 'styrene
(B) Poly éthylene

(C) Polf lactic, acid

I
[
s b

(D) Poly propylene

The purpose ‘of the National
Assessment and Accreditation

Council (NAAC) in India is ........... .
(A) Gfanting research funds

(B) Approving Academic I;rograms
(C) Quality Assurance

(D) Establishing Universities

Which of the following organizations
is - responsible for Technical

Education in India ?

(A) AIU

(B) AICTE

(C) NCTE

(D) AIIMS

Paper-I—A
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46.

47.

QA V4 sy agas wulazer wd

. N
Yd 87

(A Wdl Rl

B) wdl Slellv
© Wdl aBes NS
@) el wiluel

wglfq Yeuis 2 Hat uRNe,

MLl BB

@A) dAsiar W2 ms?wl Wy 539
B) AuRs s1dsHIA Ayl spLucll
(C) Jadtl wital
(D) Rrafaenaudl -

odHl asg Blag He FaselR

A 56 B 7
(A) AIU

(B) AICTE
(C) NCTE

(D) AIIMS
[P.T.0.]



48.

49,

50.

(A)

‘IMPRINT’ is a program that
addresses .........o.u.i....... .

Major Science & Engineering

Challenges in India

(B) Major Agriculture Challenges

Improvement of Academic

Research

(C)
(D) Major Language and Literacy
Challenges '

Which institution secured first rank

in over all category of NIRF ranking
2019 ? '

(A) IISc, Bangalore

- (B) IIT, Madras

(C) IIT, Delhi
(D) IIT, Mumbai

10+2+3 pattern of Education
system in India was recommended

DY oo, .
(A) Kothari Commission
(B) Radhakrishnan Commission

(C) Balvantrai Mehta Committee

(D) Janardhan Reddy Committee_

Paper-I—A
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48.

49.

50.

IMPRINT $145% § % old & :

A Rstin AU YBS e

YSdin

(B) dlasl-y He&m{ uSHIR

(©) Aaulds Auiann yarw

D) vl A ARAAL Hgcarl

YSHIRL

GURdHL NIRF il qu3dutzld suis
2019 Hi 515 AU HUY s WL sy]

8 7

- (A) IS, Bangalofe

(B) IIT, Madras
(C) TIT, Delhi
(D) IIT, Mumbai

10+2+3 [Bia9L dnedl etepys sig
531 7

(A S8l sl

(B) U sMPun
(C) sddyd Hddl sEan

(D) g 388l sMan



